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Assignment 2
The due date for submitting this assignment has passed.
As per our records you have not submitted this assignment.

The switch in the following figure has been closed for a long time and opens at .
What is the circuit time constant for ?  

          

No, the answer is incorrect. 
Score: 0

Accepted Answers:

For the circuit of , what is  as   ?

        

No, the answer is incorrect. 
Score: 0

Accepted Answers:

Consider the circuit shown in the figure with input voltages  and . What is the circuit time constant for ?  
        

𝑡 = 0

𝑡 > 0
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𝑄 − 1 𝑉𝐶 𝑡 → ∞
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No, the answer is incorrect. 
Score: 0

Accepted Answers:

In the circuit of , what is ?  
        

No, the answer is incorrect. 
Score: 0

Accepted Answers:

In the circuit of , what is ?  
        

No, the answer is incorrect. 
Score: 0

1.33𝑚𝑠𝑒𝑐

6𝑚𝑠𝑒𝑐
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1 point6)

1 point7)
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Accepted Answers:

In the circuit of , let   for . The constants  and  (in Volts) are given by 

No, the answer is incorrect. 
Score: 0

Accepted Answers:

Consider the  circuit shown in the figure. What is the circuit time constant?  
       

No, the answer is incorrect. 
Score: 0

Accepted Answers:

In the circuit of , what is the minimum value attained by ?  
        

−2.5𝑚𝐴

𝑄 − 3 = 𝐴 + 𝐵𝑉𝑅2 𝑒−𝑡/𝜏 𝑡 > 0 𝐴 𝐵

𝐴 = −5, 𝐵 = 0

𝐴 = −5, 𝐵 = 5

𝐴 = 10, 𝐵 = 5

𝐴 = 5, 𝐵 = 10

𝐴 = −5, 𝐵 = 0

𝑅𝐶
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1 point9)
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No, the answer is incorrect. 
Score: 0

Accepted Answers:

In the circuit of , what is ?  
        

No, the answer is incorrect. 
Score: 0

Accepted Answers:

In the circuit of , what is ?  
        

No, the answer is incorrect. 
Score: 0

Accepted Answers:

In the circuit of , what is ?  
        

0.85𝑉

0.42𝑉

0.42𝑉

𝑄 − 7 ( )𝑖2 𝑡0
+
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0.34𝑚𝐴
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0.34𝑚𝐴

𝑄 − 7 ( )𝑖2 𝑡1
−

0.15𝑚𝐴

75𝜇𝐴

38𝜇𝐴

4.2𝜇𝐴

38𝜇𝐴

𝑄 − 7 ( )𝑖2 𝑡1
+

https://www.facebook.com/NPTELNoc/
https://twitter.com/nptelindia
https://www.youtube.com/user/nptelhrd
https://www.linkedin.com/company/nptel/
https://plus.google.com/u/0/+nptelhrd


27/07/2020 Basic Electronics - - Unit 3 - Week 2

https://onlinecourses-archive.nptel.ac.in/noc18_ee10/unit?unit=17&assessment=144 5/7

1 point12)
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No, the answer is incorrect. 
Score: 0

Accepted Answers:

Consider the circuit shown in the figure. What is the circuit time constant?  

        

No, the answer is incorrect. 
Score: 0

Accepted Answers:

In the circuit of , what is ?  

        

0.95𝑚𝐴

1.43𝑚𝐴

0.62𝑚𝐴

1.88𝑚𝐴

0.95𝑚𝐴

𝑅𝐿

1𝜇𝑠𝑒𝑐

6𝜇𝑠𝑒𝑐

3𝜇𝑠𝑒𝑐

4.5𝜇𝑠𝑒𝑐

4.5𝜇𝑠𝑒𝑐

𝑄 − 12 𝑖( )𝑡0
+

0.22𝑚𝐴

0.83𝑚𝐴

1.4𝑚𝐴

3.75𝑚𝐴
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1 point14)

1 point15)

No, the answer is incorrect. 
Score: 0

Accepted Answers:

In the circuit of , what is ?  

        

No, the answer is incorrect. 
Score: 0

Accepted Answers:

In the circuit of , what is ?  

        

No, the answer is incorrect. 
Score: 0

Accepted Answers:

0.83𝑚𝐴

𝑄 − 12 𝑖( )𝑡1
−

2.32𝑚𝐴

1.47𝑚𝐴

1.8𝑚𝐴

3.12𝑚𝐴

2.32𝑚𝐴

𝑄 − 12 𝑖( )𝑡1
+

0.63𝑚𝐴

1.06𝑚𝐴

1.49𝑚𝐴

2.15𝑚𝐴

1.49𝑚𝐴
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